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Solve the following missing lengths. Round your answers to thP nea fﬁat tenth. The |
arswer to (’Poh orob[ em W||| mdtch a letter that will allow you to ﬁgue out tne JOKF
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5: 12,5
B: 20.9
V: 30.9
G: 111
U: 50.6
A 82
T: 15.7
0; 6.5
N: 19.5
R: 10.7
l: 4.4
W: 0.3
E: 405
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8 Trigonometric Ratios — Finding Migsing Lengths Joke #10 g
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Solve the following missing angles. Round your answers to the nearest tenth.
The answer to eacn prob lem will rratfh a letter ,hat wnl allow you to figure out the joke. |
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Trigorometric Ratios — Finding Miselg Anglss Joke
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Solve the following missing lengths

The answer to each pr ool

nd angles. Round your answers to the nearest tenth. |

a
em will match a letter that will allow you to figure out the joke. |
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200 236 10.9 109 144 254 37.6 183
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Joke #14
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Solve the following missing lengths and angles. Round your answers to the nearest tenth. |
w you to figure out the joke.
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Solve the following word prob.um@. Round your answers to the nearest tenth. :
The answer to each proamfr will match a letter that will allow ym to ﬁfure out tnqokp

e T S e S S ¥ R R s L e R T

1. A building’s ﬂngle of elevation from a point on the ground G0 ft. from
its base is 32°. What is the height of the building?

2. A 16-ft. ladder is leaning against a house. The ladder’s angle of
Si@‘-/czt:OI’l is 47°. How far above the ground is the top of the ladder?
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What is the angle of elevation of the sun when a
30" shadow?
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4. A balloon has an angle of elevation of 54° from a point on the
ground. From the point on the. ground to the balloon, the distance is
250 ft. How far up in the air is the balloon?

5. A kite is BO m high when 200 m of string is out. What angle does
the kite string make with the ground?

6. A tabls elfaped like a para alle g ram has sides of 3 ft. and & ft. One
angle on the table is 70°. Find the area of the table.
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Solve the following word provlems, Round your answers to
the nearest tenth. Cross out the letter that matches your
answer. The remaining letters will allow you to figure out the joke.
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1. How far from the base of a house is the bottom of a 25-ft. ladder that makes an
angle of 65° with the ground?

2. If a person © ft. tall has a shadow of B4, then what s the angle of elevation of the
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3. The following triangles are all 20° — 60° — 90° triangles. Find the length of x. 3
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4. From.a point 200, yds. from the base of a dliff, the angles of elevation to the top and g
pottom of a lignthouse on top of the dliff are 60° and 5&°. How tall is the lighthouse? g
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203 1864 54 ©32 10 &4 100 95 672 531 74 g
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